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AQA A2 Business Studies

2 Financial strategies and accounts

Using the marking schemes

These answers give some possible responses, but not all. There are many ways in which most of the questions can be answered, and the marking scheme cannot include all of these. The answers provided are only some possible suggestions. There is one exception to this, however. Questions based on calculations do have definitive answers and these are provided, although there may be more than a single way to arrive at the correct answer. Numerical questions of this type will only appear on Unit 3 papers.

Ask your teacher or lecturer how to use the marking schemes to select the appropriate level for your answer. 

Question 1

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	10–9

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	8–7

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	6–5

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	4–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· The company faces tough competition from rivals such as Domino’s Pizzas. Minimising costs is essential to allow price competitiveness.

· Demand for pizzas is strongly price elastic. This means that reducing costs and hence prices can have a significant impact on sales, boosting revenues.

· Prices in the pizza market have been drifting downwards for 2 years and the company cannot afford to ignore such trends. Cost minimisation is essential in these circumstances to maintain acceptable profit margins.

Question 2

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	13–12

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	11–9

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	8–6

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	5–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· Yes, he is correct because the company’s sales revenue and operating profits have both risen between the previous and latest financial years. 

· Yes, he is correct. The company’s shareholders will be pleased that dividend per share (DPS) has risen from 9.9 pence to 12.02 pence, and the dividend yield from 7.73% to 10.02%, and these are good returns.

· No, he is wrong as although the company’s gearing ratio has fallen from 57.27% to 55.43% it is still high and above 50%.

· No, he is wrong. The company’s return on capital has declined from 10.40% to 9.97% and this is a central measure of a business’s financial performance.

Evaluation

	Level
	Descriptor
	Marks

	E3
	Judgement with well-supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	5–4

	E2
	Judgement with reasonable attempt at justification. Evidence of a logical structure and some use of technical terms. 
	3–2

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1


Themes for evaluation may include the following:

· Paul is at best only partially correct as certain aspects of its performance are poor. ROCE is low and falling and shareholders looking for a long-term return may not agree with him.

· Such a judgement would involve a comparison with other companies in the same industry. How do these figures compare for those of Domino’s, for example?
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